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' su¢ ecursion to complete the table.
B Whea will the amount reach 50 mg.?
l'ind a recursive or explicit equation to model the decay.
swyour equation to find the amount left after 10 hours.
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1. scientist uses a model to find the projected bison
wlatien i a national park. Her data is shown in the table below.)
Find _the popojofion it /1S d{crm&nng by 574 dyeor.

Popalation Process

SR O——

D
o

]
{

s+ the model linear or exponential?

vrormine the rate of change.

. recursive or explicit equation to model the situation.
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